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Run 5285, mpswise, BCM: Beam ON, Laser ON

Mean: 1604206 +/- 0.0010

Sbd Drew: 051171 4 0.0007

|_|

35000

30000

25000

20000

15000

10000

5000

25000

20000

15000

10000

5000

Run 5285 mpswise, BCM: Beam OFF

Enlries: 36269

Meari: 0003ED +/- 0.0007

Sid ey 01337 - 0.0005

| L1 |
09 0.2

| I.-.ﬂ.—l. | 1
0.4 0.6

Run 5285, mpswise, BCM: Beam ON, Laser OFF

I

Entries: 217449

Mean: 1560.3629 +/- 0.0014

Sid Dev: 06451 - 0.0070

.




Run 5285 mpswise, lasPow: All Run 5285 mpswise, lasPow: Beam OFF
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Run 5285 mpswise, bpmAx: All
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Run 5285, mpswise, bpmAy: Beam ON, Laser ON
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Run 5285 mpswise, bpmBx: All Run 5285 mpswise, bpmBx: Beam OFF
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Run 5285 mpswise, bpmBy: All
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Run 5285 mpswise, beam ON, laser OFF
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Run 5285 mpswise, beam ON, laser ON Run 5285 mpswise, beam ON, laser OFF
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Cav Power

Cav Power

Run 5285 mpswise, beam ON, laser ON Run 5285 mpswise, beam ON, laser OFF
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Run 5285 mpswise, beam ON, laser ON
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Run 5285 mpswise, beam ON, laser OFF
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Run 5285 mpswise, beam OFF, laser ON Run 5285 mpswise, beam OFF, laser OFF
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Run 5285 mpswise, beam OFF, laser ON Run 5285 mpswise, beam OFF, laser OFF
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Run 5285 mpswise, beam ON, laser ON Run 5285 mpswise, beam ON, laser OFF
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Run 5285 mpswise, beam OFF, laser ON Run 5285 mpswise, beam OFF, laser OFF
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Run 5285 mpswise, beam ON, laser ON Run 5285 mpswise, beam ON, laser OFF
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Run 5285 mpswise, beam OFF, laser ON Run 5285 mpswise, beam OFF, laser OFF
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